50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 1SEC563

Time: 3 hrs. ‘*ﬂﬂ% "Max. Marks: 80

Note: Answer any Fm }ull questions, choosing >
ONE ftgwl %uestwn JSrom each module,
&
1 a. Compare microprocessor and microcontroller. ~ (04 Marks)
b. Explam the 1nternal orga“ﬁ‘izyaﬂon of 8051 mlcrocontr@;yer RAM. (04 Marks)
C. (08 Marks)
2 4

Y 4 (04 Marks)
b. How nﬁan SFR’s present in 805 L@gnd write the bit addressable SFR’s present in 8051 with
its aédr@,;s (04 Marks)
8 e interfaced to 8051 with necessary
control signal. (08 Marks)

b.

C.

(08 Marks)

d' DIV 1nstruct10n works with an example in 8051 microcontroller.
(08 Marks)

Find the tlmgxeﬁulred to execu}e&g‘i& following instructions if AT 89C51 microcontroller is
used :
i) ADDCA ,\#54 if XTAL frequency is 12MHz

i) XRL 35, # 47h 1fXTAL‘frequency is 11.0592
iii) MULAB if XTAL" &quency is 12 MHz

iv) NOP if XTAL fr@quency is 11.0592MHz. (04 Marks)
Explain how thgﬁ lowing instructions works with an example.

i) MOUX A M@ DPTR

ii) MOVC A @A + PC. (04 Marks)
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15EC563
Module-3
What is stack and explain push and pop instruction works with an example. (06 Marks)
Calculate the delay produced in the program shown and XTKE wised is of value
11.0592 MHz
MOUR?2, #250
100P NOP
NOP
NOP
NOP
DJN2 R2, 100P
RET.
Write an ALP to read the number from
send it though P2 otherwise send it 'thmugh P3,

Y (05 Marks)
if it is odd find the compllment of the number and
""" (05 Marks)

Write an ALP to read the stat,us of witch S connected o P1.2 if it is in the on condition

switch on the LED connccted P2.2 otherwise off LEﬁ connected P2.2. (06 Marks)
What is subroutine aj %n%mlon the advantages of Subﬁr)utme (05 Marks)
Use subroutine to ﬁn the factorial of a number stored in memory location 45. Assume that

the number stored m memory location is <05. ¢ (05 Marks)

Explain TMOD and SCON register with it§ bit pattern. (05 Marks)
Write thé eps to be followed for usmg “timer1 in mode 2 and also find the value to be stored
in reg. | ‘hﬂ(and get a delay of 100 pS when XTAL frequehcy is 11.0592MHz. (05 Marks)
Usm%e 0 write a program to génerate a square Kg@?y on P1.4 of frequency of 2KHz in

model. Assume XTAL friguem:y is 11.592MHz. ;=0 (06 Marks)
OR
What are advantages oF serlal communication: QVCI’ parallel commumcatron‘7 (05 Marks)

Write a program to trénsfer the message ‘HELLO’ serrally dt 2 800 baudrate with 1 stop bit.
(05 Marks)
Write a C progragn for 8051 to transﬁ the letter 'y serlaﬁy at 9600 baud continuously use

8 bit data and 1'stop bit. (06 Marks)

Module-5
Explam ‘the bit pattern ofiE registrar and how (1) to enable the serial interrupt, time r0

V4

mtegrupt and external haraware interrupt m/805f (04 Marks)
./erte a ALP that c?)ntlﬁuously gets , g f!ht data from PO and sends it to P1 while

rrrrr

reserved in ROM for each riterrupt (05 Marks)
Write a ALP to sw1tch on LED connected on P1.3 for 500psec when INT1 is activated.
XTAL used 12MHZ b (06 Marks)

(05 Marks)

* %k ok 3k ok
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